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One does not acquire with mere seeing  — 17 X» X2bwa 7ON27

OVERVIEW
nooIN reconciles our X713 which maintains °1p X2 Xn9va 7°87 with another
X773 which states °Ip P52 V2.

mooIn anticipates a difficulty:
- 1’)‘,7 4PN NVAN (oW &,MP 971PY) NIIYNI $H%2N PID 1399INRT XM

And that which the X723 states in 7>%pm noan pas; ‘looking at 2ps:7 is an

acquisition’, the X3 there seemingly contradicts our X3 here which maintains
21 XD RRHy2 °K12T —

mooIn responds, that the term 7027 there -
2:1\9‘,7 973 YTV 1D N1 DD NYYN NYIY 139N

Means the he did a minimal action; for instance he fenced in the P57
item with a small fence.

SUMMARY
When the Xn3 stated °31p Tp972 7027 it meant with a X37w 95 nwyn; otherwise
127 alone would not be 71p.

THINKING IT OVER
1. Why is jop 772 973 considered merely a 17 93 nwyn? We learnt’
concerning 7pTA 1P that XIAw 93 yA91 173 31 is a valid apm!*

2. In the X3 in 7»°9%ym n°27, what makes the 7°3p; is it the 7van (then the
question remains), or is it the 177 92 7wyn (so why does the X713 say °1p 7017
when it is the mwyn that is 7199)?!°

" The xma there cites a Xn™12 concerning those who are appointed to watch the ny»aw *mo0 (which are
qpon) to insure that there will be grain for the 7y and an>i *1w. There is a dispute between the 1327 [who
maintain that those watching are paid] and °01° "7 [who maintains they are not paid]. One of the explanations
is that they argue whether "1p 7972 17027 or not. The 7127 maintain that 7572 w27 is A1 and therefore if
we would not pay the oW, the grain would belong to them and it could not be brought as a 712% 127p;
however if we pay them then they are watching it for w7pn and it belongs to w7pn. While >01° "1 maintains
that 79772 1WV27 is not 1P, so even if we do not pay them, since they are only watching the grain, it does
not belong to them, but rather it will belong to wpn when it is harvested. It appears from that X nx
(according to the 1337) that *1p 25772 V27, contradicting our X3 that *1p X? R17Y2 R12.

2 It would seem that *0v "1 maintains that this 177 %3 7w¥» is not sufficient for a PIp.

dx,ana".

* See n"m.

> See 7"1m1,717 7> and vO MR 7"'20.
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